





























What is $P(q_t = s)$? Clever answer • For each state s_i , define $p_t(i) = Prob.$ state is s_i at time t $= P(q_t = s_i)$ • Easy to do inductive definition $\forall i \quad p_0(i) = \begin{cases} 1 & \text{if } s_i \text{ is the start state} \\ 0 & \text{otherwise} \end{cases}$ $\forall j \quad p_{t+1}(j) = P(q_{t+1} = s_j) = \sum_{i=1}^{N} P(q_{t+1} = s_j \land q_t = s_i) =$























Are H.M.M.s Useful?

You bet !!

- Robot planning + sensing when there's uncertainty (e.g. Reid Simmons / Sebastian Thrun / Sven Koenig)
- Speech Recognition/Understanding Phones \rightarrow Words, Signal \rightarrow phones
- Human Genome Project Complicated stuff your lecturer knows nothing about.
- Consumer decision modeling
- Economics & Finance.

Plus at least 5 other things I haven't thought of.

Slide 28



















Basic Operations in HMMs For an observation sequence $O = O_1 \dots O_7$, the three basic HMM operations are: Problem Algorithm Complexity Evaluation: Forward-Backward $O(TN^2)$ Calculating $P(q_t=S_i | O_1O_2...O_t)$ Inference: Viterbi Decoding $O(TN^2)$ Computing $Q^* = argmax_Q P(Q|O)$ Learning: Baum-Welch (EM) $O(TN^2)$ Computing $\lambda^* = \arg \max_{\lambda} P(O|\lambda)$ T = # timesteps, N = # states opyright © Andrew W. Moore Slide 38



































 $\begin{aligned} \boldsymbol{\alpha}_{t}(\mathbf{i}): \mathbf{easy to define recursively} \\ \boldsymbol{\alpha}_{t}(\mathbf{i}) = \mathbf{P}(\mathbf{O}_{1} \mathbf{O}_{2} \dots \mathbf{O}_{T} \wedge \mathbf{q}_{t} = \mathbf{S}_{i} \mid \boldsymbol{\lambda}) (\mathbf{q}_{t}(\mathbf{i}) \text{ can be defined stupidly by considering all paths length 't'. How?} \\ \\ \boldsymbol{\alpha}_{1}(\mathbf{i}) = \mathbf{P}(\mathbf{O}_{1} \wedge \mathbf{q}_{1} = \mathbf{S}_{i}) \\ &= \mathbf{P}(\mathbf{q}_{1} = \mathbf{S}_{i})\mathbf{P}(\mathbf{O}_{1}|\mathbf{q}_{1} = \mathbf{S}_{i}) \\ &= \mathbf{What?} \\ \boldsymbol{\alpha}_{t+1}(\mathbf{j}) = \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t}\mathbf{O}_{t+1} \wedge \mathbf{q}_{t+1} = \mathbf{S}_{j}) \\ &= \sum_{i=1}^{N} \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t} \wedge \mathbf{q}_{t} = \mathbf{S}_{i} \wedge \mathbf{O}_{t+1} \wedge \mathbf{q}_{t+1} = \mathbf{S}_{j}) \\ &= \sum_{i=1}^{N} \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t} \wedge \mathbf{q}_{t} = \mathbf{S}_{i} \wedge \mathbf{O}_{t+1} \wedge \mathbf{q}_{t+1} = \mathbf{S}_{j}) \\ &= \sum_{i=1}^{N} \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t} \wedge \mathbf{q}_{t} = \mathbf{S}_{i}) \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t} \wedge \mathbf{q}_{t} = \mathbf{S}_{i}) \\ &= \sum_{i} \mathbf{P}(\mathbf{O}_{t+1}, \mathbf{q}_{t+1} = \mathbf{S}_{j} | \mathbf{Q}_{1} = \mathbf{S}_{i}) \mathbf{P}(\mathbf{O}_{1}\mathbf{O}_{2}\dots\mathbf{O}_{t} \wedge \mathbf{q}_{t} = \mathbf{S}_{i}) \\ &= \sum_{i} \mathbf{P}(\mathbf{Q}_{t+1} = \mathbf{S}_{j} | \mathbf{q}_{t} = \mathbf{S}_{i}) \mathbf{P}(\mathbf{O}_{t+1} | \mathbf{q}_{t+1} = \mathbf{S}_{j}) \mathbf{\alpha}_{t}(\mathbf{i}) \\ &= \sum_{i} \mathbf{P}(\mathbf{q}_{t+1} = \mathbf{S}_{j} | \mathbf{q}_{t} = \mathbf{S}_{i}) \mathbf{P}(\mathbf{O}_{t+1} | \mathbf{q}_{t+1} = \mathbf{S}_{j}) \mathbf{\alpha}_{t}(\mathbf{i}) \\ &= \sum_{i} \mathbf{q}_{ij} \mathbf{b}_{j}(\mathbf{O}_{t+1}) \mathbf{\alpha}_{t}(\mathbf{i}) \end{aligned}$





















HMMs are used and useful But how do you design an HMM?
Occasionally, (e.g. in our robot example) it is reasonable to deduce the HMM from first principles.
But usually, especially in Speech or Genetics, it is better to infer it from large amounts of data. $O_1 O_2 O_T$ with a big "T".
Observations previously $O_1 O_2 O_T$ in lecture
Observations in the next bit $O_1 O_2 O_T$
Copyright © Andrew W. Moore Slide 67

Inferring an HMM	
Remember, we've been doing things like	
P(O ₁ O ₂ O _T λ)	
That " λ " is the notation for our HMM parameters.	
<u>Now</u> We have some observations and we want to estimate $λ$ from them.	
AS USUAL: We could use	
(i) MAX LIKELIHOOD $\lambda = \operatorname{argmax} P(O_1 O_T \lambda)$	
λ	
(ii) BAYES	
Work out P($\lambda \mid O_1 O_T$)	
and then take E[λ] or max P($\lambda \mid O_1 O_T$) λ	
Copyright © Andrew W. Moore Sild	de 68









We want
$$a_{ij}^{\text{new}} = \text{new estimate of } P(q_{t+1} = s_j | q_t = s_i)$$

$$= \frac{\text{Expected \# transitions } i \rightarrow j | \lambda^{old}, O_1, O_2, \cdots O_T}{\sum_{k=1}^{N} \text{Expected \# transitions } i \rightarrow k | \lambda^{old}, O_1, O_2, \cdots O_T}$$

$$= \frac{\sum_{k=1}^{T} P(q_{t+1} = s_j, q_t = s_i | \lambda^{old}, O_1, O_2, \cdots O_T)}{\sum_{k=1}^{N} \sum_{t=1}^{T} P(q_{t+1} = s_k, q_t = s_i | \lambda^{old}, O_1, O_2, \cdots O_T)}$$

We want
$$a_{ij}^{\text{new}} = \text{new estimate of } P(q_{t+1} = s_j | q_t = s_i)$$

$$= \frac{\text{Expected \# transitions } i \rightarrow j | \lambda^{old}, O_1, O_2, \cdots O_T}{\sum_{k=1}^{N} \text{Expected \# transitions } i \rightarrow k | \lambda^{old}, O_1, O_2, \cdots O_T}$$

$$= \frac{\sum_{t=1}^{T} P(q_{t+1} = s_j, q_t = s_i | \lambda^{old}, O_1, O_2, \cdots O_T)}{\sum_{k=1}^{N} \sum_{t=1}^{T} P(q_{t+1} = s_k, q_t = s_i | \lambda^{old}, O_1, O_2, \cdots O_T)}$$

$$= \frac{S_{ij}}{\sum_{k=1}^{N} S_{ik}} \text{ where } S_{ij} = \sum_{t=1}^{T} P(q_{t+1} = s_j, q_t = s_i, O_1, \cdots O_T | \lambda^{old})$$

$$= \text{What?}$$

We want
$$a_{ij}^{\text{new}} = \text{new estimate of } P(q_{t+1} = s_j \mid q_t = s_i)$$

$$= \frac{\text{Expected \# transitions } i \rightarrow j \mid \lambda^{old}, O_1, O_2, \cdots O_T}{\sum_{k=1}^{N} \text{Expected \# transitions } i \rightarrow k \mid \lambda^{old}, O_1, O_2, \cdots O_T}$$

$$= \frac{\sum_{k=1}^{T} P(q_{t+1} = s_j, q_t = s_i \mid \lambda^{old}, O_1, O_2, \cdots O_T)}{\sum_{k=1}^{N} \sum_{t=1}^{T} P(q_{t+1} = s_k, q_t = s_i \mid \lambda^{old}, O_1, O_2, \cdots O_T)}$$

$$= \frac{S_{ij}}{\sum_{k=1}^{N} S_{ik}} \text{ where } S_{ij} = \sum_{t=1}^{T} P(q_{t+1} = s_j, q_t = s_i, O_1, \cdots O_T \mid \lambda^{old})$$

$$= a_{ij} \sum_{t=1}^{T} \alpha_t(i) \beta_{t+1}(j) b_j(O_{t+1})$$

We want
$$a_{ij}^{\text{new}} = S_{ij} / \sum_{k=1}^{N} S_{ik}$$
 where $S_{ij} = a_{ij} \sum_{t=1}^{T} \alpha_t(i) \beta_{t+1}(j) b_j(O_{t+1})$



EM for HMMs		
If we knew λ we could estimate EXPECTATIONS of quant such as	ities	
Expected number of times in state i		
Expected number of transitions $i \rightarrow j$		
If we knew the quantities such as		
Expected number of times in state i		
Expected number of transitions $i \rightarrow j$		
We could compute the MAX LIKELIHOOD estimate of		
$\lambda = \langle \{a_{ij}\}, \{b_i(j)\}, \pi_i \rangle$		
Roll on the EM Algorithm		
Copyright © Andrew W. Moore	Slide	







